package essentials;

public class HalfLife {

final static double CS137_HALF_LIFE = 30.17;

public static void main(String[] args){
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initialKgCS = 1200000;
yearsToDecay = (2017 + (9/12)) - (1986 + (4/12));

.out.println("Years since chernobyl disaster: " + yearsToDecay);
System.

out.println("Mass of Cesium waste at the time of disaster: " + initialKgCS);

massAfterDecay = calculateCSMassRemaining(initialKgCS, yearsToDecay);
out.println("Today, " + massAfterDecay + " kg of Cesium-137 still remain");

public static double calculateCSMassRemaining(double initial, double time){

double finalMass;

double expExpression = Math.pow(2, (-1 * time) / CS137_HALF_LIFE);
finalMass = initial * expExpression;

return finalMass;



